
Instruction Guide
4A99H

https://www.carid.com/kargo-master/


Instructions – 4A99H 

*PLEASE READ ALL INSTRUCTIONS AND WARNINGS PRIOR TO ASSEMBLING,
INSTALLING, AND USING THIS PRODUCT* 

Warning 

Always check for wires, fuel tanks and lines, brake lines and other important vehicle 
functionality items prior to drilling and installing all products.  

Tools Needed 

3/8” Socket and Wrench Phillips Driver

7/16” Socket and Wrench 1/2” Socket and Wrench 

Before You Begin 
• Read all instructions.

• Have vehicle specific mounting installed on vehicle.

• DO NOT EXCEED MANUFACTURERS WEIGHT CAPACITY FOR ROOF.



Instructions – 4A99H 

Parts 1 of 2 



Instructions – 4A99H 

Parts 2 of 2 



Instructions – 4A99H 

Hardware 



Instructions – 4A99H 

Step 1 – Place Front Bow 
• Place the front bow on top of the installed feet. Be sure the bow is centered on the vehicle.

• The same slot, but on opposite sides of the bow will be used to attach the bow to the feet.
These slots will vary based on which vehicle the ladder rack is being installed on.

• Bolt the front bow to the feet using 3/8” x 3/4" hex head bolts, 3/8” lock washers and 3/8”
flat washers that are included in the vehicle mounting kit. The ladder pan will need to be
pivoted out of the way to access the mount locations on the passenger side.

• Snug tighten, but allow movement.



Instructions – 4A99H 

Step 2 – Place Rear Bow 
• Place the rear bow on top of the installed feet. Be sure the bow is centered on the vehicle.

• The same slot, but on opposite sides of the bow will be used to attach the bow to the feet.
These slots will vary based on which vehicle the ladder rack is being installed on.

• Bolt the rear bow to the feet using 3/8” x 3/4" hex head bolts, 3/8” lock washers and 3/8”
flat washers that are included in the vehicle mounting kit. The ladder pan will need to be
pivoted out of the way to access the mount locations on the passenger side.

• Snug tighten, but allow movement.



Instructions – 4A99H 

Step 3 – Install Torque Tube 
• Measure the minimum distance between the front and rear bow as shown below.

• If the distance is approximately 57”, only the long torque tube will be needed. If the
distance is approximately 82”, the torque tube and the extension will be needed.

Note: The extension is being used in the picture below. 

• Bolt the torque tube to the front and rear bow using 1/4" x 7/8” hex head bolts, 1/4" flat
washers and 1/4" nyloc nuts. Repeat this process if the extension is being used.

• Snug tighten, but allow movement.



Instructions – 4A99H 

Step 4 – Install End Tube 
• Bolt the end tube to the end of the pan on the front and rear bow using 5/16" x 3/4” hex

head bolts, 5/16” lock washers and 5/16" flat washers.

• Snug Tighten, but allow movement.



Instructions – 4A99H 

Step 5 – Install Actuator 
• Remove the hardware, as shown, from the tube on the rear bow.

• Insert actuator extension into the tube and attach using the previously removed hardware.

• Insert actuator assembly into the end of the actuator extension as shown below.

• Bolt into place using two 5/16” x 1-3/4” hex head bolts, four 5/16” flat washers and two
5/16” nyloc nuts.

• Tighten.



Instructions – 4A99H 

Step 6 – Install Ladder Hook 
• Assemble the ladder hooks.

Note: This can be adjusted at a later time 
to better fit the size of the ladder being 
used. 

• Bolt into place using 1/4" x
7/8” hex head bolt, 1/4" lock
washer and a 1/4" flat
washer.

• Repeat for a second ladder
hook.

• Tighten.

• Place one ladder hook assembly onto the front bow and one ladder hook on the rear bow
in the desired locations. Use the threaded studs to locate the ladder hook location.

• Bolt into place using two 5/16” flat washers and two 5/16” nyloc nuts at each location.



Instructions – 4A99H 

Step 7 – Install Ladder Stop 
• Find the slot and the installed hardware near the previously installed ladder hook assembly.

• Remove the hardware in the bow and place the ladder stop in that location. Bolt into place
using the removed hardware. Be sure the tab on the ladder stop aligns with the slot in the
bow.

• Repeat on each bow.

• Tighten.



Instructions – 4A99H 

Step 8 – Install Handle Bar Holder 
• Determine the best location for the installation of the handle bar. Most installs are at the

rear of the van, on the backside of a shelving unit. This makes it easily accessible when the
rear doors are open.

• Drill a 1/4" hole in desired locations.

• Install clips using #10 hardware provided.



Instructions – 4A99H 

Step 9 – Test Ladder Rack 
• Go back and ensure all hardware is tight. Tighten the torque tube first.

• Prior to installing a ladder, place the long handle into the handle bar assembly and test that
the ladder rack mechanism works correctly.

ENSURE ALL HARDWARE IS TIGHT 

YOUR INSTALLATION IS NOW COMPLETE 

Learn more about commercial van equipment on our website.

https://www.carid.com/commercial-van-equipment.html

